ERAVAARTE TEY TOACTAGGIGENO (3 75 Gldipes)
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Enavainyn 61ou¢ mivakeg TOAAITAOGIOGLOV
(0,1,2,3,4,5,10,6).

Ox b= 8 x 0= 6 x 3=
3x 6= 1x 3= 2 X6 =
2x 7= 8 x 2= 4 x6-=
5x 10 = 3x5-= Ox6-=
4 X 9= 4 x6= B x6 =
1x8-= 3x8-= 1x6-=
3x4- 10 x 6 = 6 x6 =
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MPOXOEXH APIOGMON 0-20 (1)

620

9

17+1= 16 +3 = 15 +4 =
1+16= 13+3= 12 +3=
13+1= 12+3= 13+5=
18+1= 14 +3 = 15+3=
12+1= 11+3= 13+4=
19+1= 15+ 3 = 17+0=
1+15= 17+3= 18+1=
14+1= 3+11= 11+ 8 =
12+2= 4+11= 12 +6 =
13+2= 11+5= 12+5=
15+2= 11+8= 12+0=
17+2= 11+6 = 18+1=
18+2= 11+7= 14 +5=
14+2= 12+4= 13+6 =
2+16= 13+4= 3+15 =
11+2= 14+ 4 = 3+ 16 =
20+ 0= 10 + 10 = 12+7=




MPOZOEZH APIOMON 0-20 (2) s
‘187
17+0= 14 +0 = 15+0=
1+12= 15+1= 12+6=
15+1= 11+3= 13+6=
11+1= 14 +3 = 17+ 3 =
14+1= o+11= 13+5=
16 +1= 11+6= 18 +0=
1+17 = 16 +3 = 17 +1 =
14 +2 = 3+14= 18 +2=
12+ 3= 4+11= 19 + 1=
13+3= 14 +5 = 15+5=
15+3= 10+8= 13+0=
17+2= 10 + 6 = 20+0=
18+1= 10+ 7= 14 +2 =
14+ 4 = 10+4 = 3+16=
2+17 = 10+4 = 13+5=
13+2= 14 + 4 = 4+16=
10+0= 10+10= 13+ 7=




ADPAIPEXH APIOMQN 0-20

17-1= 16 -0 =
192 = 13-0 =
13-2 = 12-0=
18 — 3= 14 -0 =
122 = 11-0=
19 - 2= 15-0 =
153 = 17 -0 =
14 -3 = 11-1=
16— 4 = 1414 =
20-3= 15 15=
15-2 = 19-19 = 19— 1=
17 -2 = 20-0 = 18— 1=
18 -2 = 18 18 = 14 -2 =
14 -2 = 1212 = 13- 2 =
19-2 = 17 -7 = 15 _ 4 =
162 = 2020 = 17 — 4 =
14 -0 = 10-0 = 19— 4 =




TTIPOZOEZH KAI AZAIPEZH
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